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7.5 Applica{ims of Mdir{céﬁ

Swm‘aose we L\sz ‘“«.L &How;u& J;i“hM o'P ¢5u4jj¢1“5:

a,X < "Ltz? t o, T = lo,

A, X 4 an? 4 A2 = b,‘__

- b,

which is aquw@lwt to Hag .Yin?)e w\»\i"f}( eéuaib'cm

-

A X b

(4, 44 A [T X b,
Ay Ay dpy ’a = | b,
Ag dg, P33 z | L’s

which wt oftin write wm shorthamd : AX =k ,

Haorn  WE wow have :Eg_‘-’_‘;[_ Waas ‘}o Solve Forx,sé-z.,

1) Substifwhion  $ 1.4

2) Elimination {14

3) Do Gauss - Jofdan elimindion o te au?mud’éql
wakriy [A l E]. §2.3

L{) Do  Gaunss — Jordamn Q\,'{w{w\oiic)v\ On. .H’“ ﬁ%‘”‘/f%fd-
wakiix (A | T] Gowe T=[3]) to Fid A7)
o]

Han .«ﬂala t 1o b ) Le. x=Ab. §2.4



A
/A "%AS ! -— X 4&” rﬁ‘b“.{re alaou:t ‘HAQ Soang Muouui
o? wor K ) loy\;t me)ﬁm& 4 rezou.ire\g wmoT e wol f( R

Hawcvu’) ture are +wa reasens £or dwoSi)\a moﬂ«nclﬁs

&L) f La,ov\ have <fome ‘%’oo} <€"9' cdcuﬁdd’l ’M"‘P)e;
e Pivel Ganss-Jordam web cite From last !ec'l”u,re>
‘}0 me“de Aﬁi —Fo-r ?‘)-w, ) Haum wu W have
to Ao s A" '1: whicld ig \)."'d makrix wndf
}P\icN{iM _

b) I‘F gz)v\ }’LAVQ 'i’o 50{ e ‘H«(_ Mﬁéf i X {5 uaifM
AX = SQV"—'\’AJ‘ 'l'imt’s L‘bd for 1o+: o*P

Ai Pferant 1:3 vectors. (D&ooliy&? messag €S IS one
exwwf))f W\MJBMOA m Wy ek )

Feel fLree to we m& too) o like 4o invert
makrices (. do Gid A7) for this section’s homework,
Rat T woudd shll do o Few by bund for the
fracl»{(ﬁ" ( Rewnemloof ?’ou‘f” have Yo do it Boa km/
on Yt %m./)



C{,) A schoo| sold , cakes |, pies ovd  looxes of
cookies 45{7 a  bake sale. Cakes were -$$.50 -E'ac{a\)

piec were £5 00 eaclh and Hu boxec of ceokies sold
for $2.00 eacl AHog,e\}«Ler 122 ilemg were sold.
The pies sold ¥ best | Seiliu? € more pies tham.
cakes amd looxes of ceokies comlained. T dotal
sales were $ 805, How  mony of eaclh item were
sold ¢

ﬁoluol?idw . c = # cakes
= #— Pies
h - #box‘es D"F kai?g



33,) Fiuwed three numhers Hot sum to uz.
The sum of Hae two iaraes-f is two wore than
four Hwmes Phe  smallest number,

The Mr?eﬁ aowmber less He smallest number
16 dwo  wore Ham Hu  widdle nember,

Solukion -

S = SM“GS} number
A W\'\Aau@ 1

A = \ar%esi- "

¢4+ m+ X = H2 s+mad =4z

ma £ = Hs v 27 T grmrd =%

Qo= mio _g-mad = 2

R U O Pt Yz p o1t L*i Ry- Ry
N . T B oy 1| R,~Re
-l 1| = | RetR | OO 2| % ool |2t
y L O | 10 1} O 20 | 1 1 o | 2o R-K,
) o |-z |RAUR | O SO € lol o)z
o0 1| 2t ool | 22 ool | 22
r‘ o O g 7 (,L\Q(,.k'.

o1 6 |11 = _

o6 | |22 : z—n'z.—tu'—-*%z/
L - ]

A _yle) 2t = 2.V

$
m
y=122 _g -1t = %
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